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Geometry Name ID: 1

Assignment Date Period

Find the value of x.

1) 2) °

180- (70+70)
|80-14D = Y0

Liacas p““s
|80= X +ud
oL

=126
3) lX 13b




Geometry Chapter 4 Pre-Test

1.) (10 pts each, 60 pts total) Evaluate each of the following triangles. If they are congruent,
state which theorem suggests they are congruent (SAS, ASA, SSS, AAS, HL) ?nd write
a congruence statement. —

Theorem; A A5

Triangle Congruence:
ADo6 =ACAT
A 0GD= AATC
b) Theorem: 666 "

Triangle Congruence: / =
AGoL = AVED

¢) Theorem: g I>(C)

Triangle Congruence:

AREF T AMTA g:;V

d) Theorem:

Triangle Congruence:




f) Theorem: u M

Triangle Congruence: M

2.) (10 pts each, 20 pts total) Prove which of the following triangles congruent if possible by

filling in the missing blanks:
—_ A~ —
a) (10 pts) &CD -z A@
a@ andl CB | AD ; :

/ c 1 e N |
AP N, [ e —
MUA{‘W@ - - 630 j z&_zau;mas AH- im_}' A’Mlt

~ Tr(wyb LM"’ ; ' »
VQ.A/I(/”"Q ASA AA 5. ABCD = ADAB SAS

5K
Bk k) (DA CPCTC

Val

I




b) (10 pts)

c. GivenV0 = RO and PR | VE

1. Given

2. Given

5. APRO = AEVO

3.) (5 pts each, 20 pts total) Find the missing measurement or variable(s).

&
5 cm
.F
S
b) x=
r

a) ?=

PN

c) x=
y:
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